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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 34 questions. All questions are compulsory.

(1t)  This question paper contains two sections :
Section — A : Macro Economics
Section — B : Indian Economic Development

(i11) This paper contains 20 Multiple Choice Questions type questions. Each
question carries 1 mark.

(tv)  This paper contains 4 Short Answer Questions Type-I questions. Each
question carries 3 marks. Answer these questions in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions. Each
question carries 4 marks. Answer these questions in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Type Questions. Each question carries
6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
candidates only.

(ix)  There is no overall choice in the question paper. However, an internal
choice has been provided in few questions. Only one of the choices in such
questions has to be attempted.

©®

SECTION - A
(Macro Economics)

1. Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : Ceteris Paribus, Devaluation of domestic currency leads
to an increase in National Income of a nation.

Reason (R) : Devaluation of domestic currency refers to reduction in the
value of domestic currency with respect to foreign currency, under
the fixed exchange rate system.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

© 58/4/1/R4PSQ/21 P.T.0.
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(Tt oo gr e Tl 1 gfd 1 1)
(A) FH, I (B) ohe FART U, HH
(C) S, Hft D) ThH g,

g foh, WS sreferere o frmforfga o @ s foesft gt i s ea T& 8 7
(H@ﬁﬁwwaﬂ?ﬁl)

(A) TEIAT I FEI3AT T M |

(B) WRd T T& aret farefemt grn fareemt o 31 aitam st Ofva & |

(C) TR IET WM et WRAT T4 |

(D) 39 foza (ROW) & 9T 0T |

Ife ueh Hiefl [T UM Bt Y-3187 X TehRIcHeh TTUEH S-1dT 8, 1 35T a1y g b,

3T % TR H gfg & Hwa 3uem ygfa 3R 3tEd st wgfa |
(Tt forpe g foar o Y gfd i 1)

@) R, s B) firaft, fireft

(C) e, wgrht (D) fer e, fef

fafomar g yomeft & siata, el S Hiareg % @ faeeft fafrar w d afg /

et 1 fafa s awar g | (Tt forepea g fiar o < gfd i 1)
@A) fer B ==
(C) vafera faweft (D) T A

frfafaa & @, foreft srefeoraen o ggr 3mafd <t s faeran(at) 6t vgam &
() 3 UH Gu AR 0T S R | -

(i) o forelt TP <t THR % U T@ g1 YR 1 afthferd foham ST 2 |

(iii) o€ T forelt TP o Shegitd b o UTe Tl g8 5T bl i B |

ferereu :
A) T (1) B) (i) 7 (iii)
(©) @) 9 (3i) D) @), (1) T (i)
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2. The Central Bank can reduce the Money Supply in the economy by
the . (Fill up the blanks with correct alternative.) 1
(A) increasing, bank rate (B) decreasing, cash reserve ratio
(C) decreasing, bank rate (D) buying, government securities

w

Identify, which of the following is not a source of demand for foreign
exchange for Indian economy ? (Choose the correct alternative.) 1

(A) Import of goods and services

(B) Remittances by foreigners living in India to their families abroad
(C) Indian tourists visiting foreign countries

(D) Loans from Rest of the World (ROW)

-

If a straight line consumption function makes a positive intercept at the

Y-axis, it implies that the Marginal Propensity to Consume and

Average Propensity to Consume as the level of income rises. 1
(Fill up the blanks with correct alternative.)

(A) remains constant, rises (B) falls, falls

(C) rises, rises (D) remains constant, falls

o

Under the Exchange Rate System, the Central Bank can control

the rise / fall of foreign exchange rate in a range bound manners. 1
(Fill up the blank with correct alternative.)

(A) fixed (B) flexible

(C) managed floating (D) gold standard

SE

Identify the incorrect feature(s) of the Money Supply in an economy,
from the following : 1

(1) It 1s measured during a period of time.
(1) It includes stock of money held by the government of a nation.

(i11) It always represents the currency held with Central Bank of the

Nation.
Alternatives :
(A) (@) only (B) (1) and (ii1)
(C) (@) and (1) D) @), 11) and (111)

QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO
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frtafaa wuet =1 ufeu : e (A) 3R R (R) | = for e fommedt o @ @&

forehed gfw 1

arfreRem (A) : Hifgeh Feohel BT 3cUTE hi T H aredfoeh Tehet B 3cdTe fohel} T Y
3TTffes Hafg 1 S Tehash 3 |

U1 (R) : dTEdfeeh Hehol o] 3c1E H S&q3il 3 Fa13tl & G il adu oy & qeai
AT ST

ferehea :

A) AT (A) IFRFRT (R) I T § IR F (R), 6T (A) 1 7t 5w
HIATR |

B) 3fFHUT (A) 3R HR (R) HT T & 3T HROT (R), 31RHUF (A) 1 F&l SIren
GRS

(C) 3R (A) T B, ifehd SRT (R) 318 § |

(D) IRUT (A) 3THA 8, Afh RO (R) FA 2 |

@ TS ATfTehT G, 3T < 38 TR h1 T8 i ST&T 319d =d Y (APS) 3 & - 1
(Tt ferehed 1 = L 1)

@M @FL) | 0 | 50 | 100 | 200 | 300 | 400

IUUR R ) | 50 | 75 | 100 | 150 | 200 | 250

~

@

forepea
A) 50 (B) 100
(C) 200 D) o
9. frafeiaa weAi 1 s Yds JTERE 1

HUA 1 : ITHWT o T9id Th HALTTET & UFT IcATEH o U & |
U 2 : I HT I T YT: 3769 = hT RO AT 8 |

few T e & StTetis o ffafaa o & w&t fasea o1 ==m Fif
(A) FUT 1 IS INHYT 2 IHAE |

(B) U 13T I HIT2 TR |

(C) HUT1 IR 2GHI AT F |

(D) HUT 1 R 2 GHI AT F |

58/4/1/R4PSQ/21



QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO

~

®

“®collegebatch.con

[E3E
(et
Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : Real Gross Domestic Product is a better indicator of
economic growth of a nation as compared to Nominal Gross Domestic
Product.

Reason (R) : Real Gross Domestic Product measures the value of goods
and services at current year prices.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

From the given table, identify that level of income, where Average

Propensity to Save (APS) becomes Zero. 1
(Choose the correct alternative.)
Income
0 | 50 | 100 | 200 | 300 | 400
R crore)
Consumption
50 | 75 | 100 | 150 | 200 | 250
R crore)
Alternatives :
A) 50 B) 100
(C) 200 D) 0
Read the following statements carefully : 1

Statement 1 : Consumption and Savings are the components of National
output of an economy.

Statement 2 : Higher level of Income often leads to lower savings.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

© 58/4/1/R4PSQ/21 P.T.0.
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10. e foreft T o wwepr Thifderl staue i feafa = Fefa s & yae =@ g,
Freafarfaa =1 ol srshies o o sraferd o
() IS 3T HHT

(i) HHAIG

(i) HHT 9T g HH)

ICET

A) @, (1), (i)
(©) (@), @), @)

B) (@), (1), @)
D) @), @), ()

11. (a) T=faRed g= 1 3T Hd g, T8 AR TR G T 346 (NNP)

o ST ITIHH T ;
T 9. e e (R AT H)
() |3 = 1,200
(i) | e wrh fee s 800
(iii) | TR S a2 500
(iv) | Tata o stmana s stk 100
(V) | TG AT HL 150
(vi) | BTerE (Inventory) ® aiad ) 50
(vii) | feor Sht <1 3uwm 200
(viii) | faeen @ yg wres 3™ 80
(ix) | Grestes Tt fay 70
FAUAT
(b) “A & ThHT TaT8 o o =0 (Disposition Phase) H SR 3T HT Y418
Tftuferd ran 2, e wat & e 1 fortmn, aeighl, st 9 oy e S e |
7Y I & AHLT T HROT AT §U, YA T TS JT THH Y |
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10. Arrange the following in the correct sequential order, if the government of
a nation is trying to curtail the situation of inflationary gap : 1

(1) Decrease in disposable income
(1) Increase in taxes

(i11) Decrease in Aggregate Demand

Alternatives :
@A) @, (1), (i) B) @), (1), (@)
(C) @), (i), () D) @), (), (i)

11. (a) Estimate the value of Net National Product at Factor Cost (NNP.),

using the following information : 3
S. No. Items Amount
(in % crores)
1) Household Consumption Expenditure 1,200
(11) Business Fixed Investment Expenditure 800
(111) Government Final Consumption 500
Expenditure
@1v) Excess of Imports over Exports 100
V) Net Indirect Taxes 150
(v1) Change in Inventory (-) 50
(vii) | Consumption of fixed capital 200
(viii) | Net factor Income from Abroad 80
(ix) Public fixed investment 70
OR

(b) “Disposition Phase of circular flow of Income involves flow of factor
Income, which comprises of rent, wages, interest and profits from
firms to households.”

Defend or refute the statement, giving valid reasons in support of
your answer. 3

© 58/4/1/R4PSQ/21 P.T.0.
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I o YA HeH o STaTd TTad o SHRISH Hel T HigTatvl 372 &amd | 3

T e, TR SR A T 40,000 HUS 6 &1 INIISHT & T TS a3 i
Ticdrtad i &1 fuig fermn 2 | 4

3= aeft wrehl I STafafda omd gu, < w8 frfa % stdfereren it 3, SR F
ITE T GHTTerd THTE sh SAHEaT < |

AT TG5Tal ok o “Sfehi o ofeh o THaIgTeh’ ST Shi SATEAT i | 4

(a) TH AfC, vk sreferaen Tqer # 2 | ffafaa srisel g stderawen § fraw
= 1 TUETH | 4
() TE 3™ = T 40,000 HUS
(i) ©iwra 3a Sgfd (MPC) = 0.8
(iii) TETE TR () = T 100 HUS
3AAUdT

(b) “HgT eI T T HE & L W, YR Fd S (RBI) “sfeh ¢ | Y e
THhar g |” 4

RBI 21 33TT S It 38 shed o dehiiR hi fae=mT &t |

(a) FrefaRaa = o= wrom gra, gofira sferr steran s s § arffehd o : 6
() T HERE HF] H TIHR I ITH AT |

(i) Gol aTeR H et arasitres &= o 3usHH (PSU) & 3790 (Share) & fosht @
TTHT I T |

(iii) >ficiohT TRHT GRT WA TR I FehTAT 7T 3k |
AT
Gb) () T ST H HAF T T o a0 T STEUEAIA i HH B T THI
OIS Th IUAT A1e B HehaT & | 4
FAT 37T fEU TTC 2 | TgHd & 7 3794 I o TUL § U1 qoh T hi |
(i) TSN e *7 37 9 5 ford | 2

58/4/1/R4PSQ/21 Page 10
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State the meaning of autonomous and accommodating items, under
Balance of Payments of India, with the help of an example. 3

—
o

—
w

Suppose, the Indian Government decides to boost public investments with
a defence project of ¥ 40,000 crore. 4

Explain the likely impacts of the given situation on the Income, Employment
and Output of the economy, assuming all other factors constant.

—
e

Elaborate the ‘Banker’s Bank and Supervisor’ function of the Reserve
Bank of India. 4

—
ot

(a) Suppose an economy is in equilibrium. From the following data,
calculate Investment Expenditure in the economy : 4

(1) National Income =% 40,000 crore

(11) Marginal Propensity to Consume (MPC) = 0.8

(111) Autonomous Consumption (¢) =3 100 crore
OR

(b) “With the objective to correct deflation, Reserve Bank of India may
decrease the Bank rate.” 4

Discuss the rationale behind the step taken by the Reserve Bank of
India (RBI).

—
2]

—~~
Y

~

With valid reasons, classify the following into Capital receipts or
Revenue receipts of the government : 6

(1) Dividend received by the government from a Maharatan
company.

(i1) Receipts of the government from sale of shares of a Public
Sector Undertaking (PSU) in open market.

(111) Debt cleared by Sri Lanka Government to the Indian Government.
OR

(b) (@) ‘Government Budget can be a useful instrument in reducing
inequalities in the distribution of income and wealth in an
economy.’ 4

Do you agree with the given statement ? Present wvalid
arguments in favour of your answer.

(i1) State the meaning and formula of Fiscal deficit. 2

© 58/4/1/R4PSQ/21 Page 11 P.T.O.
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17. (a) “foct o5 <okl H, SEFTHS &9 H diF Jfg ¥ 39~ ThNIcHsh STRIaist |
AT Jrefedereer Ikl e =a gs 8 |

fe T4 e 1 94 ki g firg Y | 3
(b) Hoa e faftr grr Ui 31 % SATehe W T =T T 9 | 3

Qus - 9
(W 3Tifefes fererma)
frefefaa st =1 gfew : srfimpe (A) 3t wror (R) | i few mu fomeat & & o
forehed gfu 1
ATReA (A) : AT3EE Wi TS it &1 o forepmar o weh wer oft |

wruT (R) : st & 3 31, Tre o STaUsE Sieeaeicashdl § GUR & Sl oAged
ITH A | ot Ui oeie s of |

forea
(A) ARTHUT (A) 3R SR (R) THT TcF & 3R BT (R), ANTRAT (A) T Tt =umen
HATR |

(B) 31Rh9T (A) 3T RN (R) THT Icd & 3T HROT (R), 3T (A) 1 T8 sare
TR BT R |
(C) 31RhuT (A) T B, wifehd ST (R) 38T § |

—
®

(D) 3ARTHYA (A) 375 B, WAfehd 0T (R) AT # |

—
©

vgaH fob frefefea & @ o @1 faeen, HiY fauum yoeft % sroe gl & sESH
1S ? - 1

(A) FIISHE, WSHUT, TEEHTT, YehfS (B) 3T, HASH, THERT, UfeT
(C) TS, TEERTT, YohfonT, uftas (D) TEEHT, Ui, BfEm, ferawo

58/4/1/R4PSQ/21 Page 12
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(a) “In the past few decades, Indian economy has been fairly benefitted
by positive externalities created by rapid rise in infrastructure.”
Justify the given statement with valid arguments. 3

—
~

(b) State the steps pertaining to the estimation of National Income by
Value Added Method. 3

SECTION - B

(Indian Economic Development)

—
x

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : License Permit Raj was a major obstacle for growth of
private sector.

Reason (R) : Private sector wasted huge amount in obtaining licences,
rather than on improving the product, quality and international
competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

—
©

Identify, which of the following alternative indicates towards incorrect
components combination of Agricultural Marketing System ? 1

(A) Assembling, Storage, Processing, Packaging
(B) Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation

(D) Processing, Packaging, Grading, Distribution

© 58/4/1/R4PSQ/21 Page 13 P.T.O.
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Freferiaa et o1 eaTgEe STere i 1
HUA 1 : 9 T 3799 ArTient & foru stfafes amifse o smiie sreer 3a= w3 * fag
EIEESEEIRERIURE IR

HUA 2 ; I H TR R TSR G @fd & A0 3 e foen@ Sehae! §
HehTIcHeh IiuTH feu 2 |

feu ¢ et & 3eties # frefaftaa 4 9 g&@ foemea o1 === Hifve
(A) YT 1 T2 IHYT 2 IHA R |

(B) U 1 FEAEINHAT 2T R |
(C) HUT13IN2TA TS |
(D) Y 1 31K 2 SHI @A & |

. Trfefaa et w1 ermgdes s1esea &l 1

U 1 : TP vldest gderor sRie™ (NSSO) & IER, SUSHTH a8 3ra 7, fem
Sk M % T % HRU o1 1 % @ 10 & | 3 HERd =afE T8 8, W
AT TSRTRETATST & I /i @ 8 | Sum TRef 9 J=ford Asigl ot = M
T 1 3T Tehe L HR TAT & |

HUA 2 : TR SF I ek ITTETE] oot < H T==1 sRISHTR SATHAR W Ush SSl T ? |

few Tu et & AT J frafafad O @ wet faeed o1 === Hifve

(A) YT 1 Hca 8 NHYT 2 IHA R |

(B) U1 3HILIMNMFATI 2T |

(C) 91323 A& |

(D) HUT1 32 GHI FAAA S |

. Torfesr v 6 s7arfa, $iY < SAEERiew & ffomEEr FN 3T wEdi g
HEE H TN 2 TR | (Td fopeu g fem AT A gfd sl 1) 1
(A) e, @ (B) wHum, 5
(C) W, e D) e, @

58/4/1/R4PSQ/21 Page 14
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20. Read the following statements carefully : 1

Statement 1 : China has used the market mechanism to create
additional social and economic opportunities for its citizens.

Statement 2 : In China, Social Infrastructure created by the government
brought positive results in human development indicators.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

]
—

Read the following statements carefully : 1

Statement 1 : As per National Sample Survey Organisation (NSSO)
unemployment is a situation in which all those who, owing to lack of
work, are not working, but seeking work from prospective employers,
expressed their willingness to work under the prevailing condition of
work and remuneration.

Statement 2 : Disguised unemployment is generally a massive problem
in the highly populated country like India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statement 1 and 2 are true.
(D) Both Statement 1 and 2 are false.

o
ro

Under the British Rule, commercialization of agriculture resulted in

shifting of agricultural production from crops to Crops. 1

(Fill up the Blanks with correct alternative.)
(A) Cash, Food (B) Cotton, Jute

(C) Food, Cash (D) dJute, Food

© 58/4/1/R4PSQ/21 Page 15 P.T.O.
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T 7 3T o o T 3R Tfehear o o TRy fepumu o | 1
(Tt forehew g ek T &1 gfd o 1)
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988

Y 1 T TET YUTTEAt 2, S T Hqe i S8 Hd! 7, S W@l 8

T gfg HA 2 | (T foped g fr A I gfd wL 1) 1
(A) YR B) TEEM®
(C) e (D) wg&lE

frfafaa Ut =1 ufeu : SAfpaT (A) 3R Fror (R) | = for e fompedt o @ @&

forered gfu 1

TR (A) : WA o TIfehEaT & forehTal STI¥e 3 8 FHMHAT § |

HROT (R) : WA o T g1 3 Teh ST {9sil &1 s W 37fereh 5iet feam e |

ferereua -

(A) I (A) 3T BN (R) ST T § 3T HRT (R), TTUHAT (A) hl H&t e
HATR |

B) 3fFHUT (A) 3R FHR (R) HT T & 3T HROT (R), 31U (A) 1 Tl =aren
T R g |

(C) 3ThhY (A) I B, AT SRl (R) 3T # |

(D) AR (A) 37EA B, Wfehd HROT (R) T F |

e 1 fob Frefetfia o & i 1 waferr 1 Th FE T © 7 1
(1) IS 1 SfEshor

(ii) Sfie <1 fera

(iii) e Hafl HaTd SEgH HEA

fererea

(A) ¥ @) B) ¥ (i)

(C) (i) = (iid) D) @ =G

58/4/1/R4PSQ/21 Page 16



QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO

23.

Lo
-

Lo
ot

Lo
&

“®collegebatch.con

=y

(=
Economic reforms were introduced in the year in India and in the
year in Pakistan.  (Fill up the blanks with correct alternative.) 1
(A) 1978, 1988 (B) 1988, 1978
(C) 1978, 1991 (D) 1991, 1988

farming is the system that restores, maintains and enhances the

ecological balance. (Fill up the blank with correct alternative.) 1
(A) Conventional (B) Chemical
(C) Organic (D) Multi-layered

Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1

Assertion (A) : The developmental experiences of India and Pakistan
have a lot of similarities.

Reason (R) : Both India and Pakistan laid emphasis on creating a large
private sector.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Identify, which of the following is not a correct function of environment ? 1
(1) Exclusion of waste
(i1) Sustainance of life

(111) Provide aesthetic services

Alternatives :
(A) () only B) 1) only
©) @) & (i) D) @ & (@D

© 58/4/1/R4PSQ/21 Page 17 P.T.O.
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27. 1970 % ek H, UTIHEA = I Ea%hnmrrgﬁwm%mm 1
(&gt forhed g fer worm A1 gfd Wi 1)
(A) Farfereen g gt (B) 39IehT e
(©) Ui weg (D) fereaft ==mIR
28. (a) ‘Y IUCH THRI fam W wRY 9gt St 7, Weg A 3 €Ama Fwehi & fow 7
et SAEvTs B I 3
feu U eum o1 3ifae fag =i |
Jreran
(b) WA <h! ferehra =TT W <t e b ofireRt TR e T ==l B | 3

)
©

LT U Jrafy #, Hiy H Foeferi & Ivem’ o Hwdr o & i QU foham W o | 3
T AT TeU T hU W TgHA 3 7 9 dohl gRT 379 I b1 GHdT & |

30. (a) () “wrd < g frer Hifq 2020 St frerht % wfdreror @ sgd IR
N 3
feu Tu U & 3relies #, TRt off Y % e & % S W 3H YHR &
YT TN % IS G TATHI T Sooid o SITEAT Y |

(ii) IATeRTER TG HfHeh i TRATT 1 | 1
Freran

(b) @) B Frgl g wRoT K e K, s wrer Fafa sqaaett T |
TfgeTati Y 31ed T a1s S § | 3
(i) =i — SEE JTUTd 1 aReTid Y | 1
31. (a) “%sfagm vra, wiream o =9 3 g wrerfirerar 1w iR oma € 1 2

forym fotmmrTa < 3tTeTres | feu 7w a1 fiag |

(b) Tr=El S TIaAaT Hehdehl T 3eoi@ H | 2
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27. In the decade of 1970’s, Pakistan nationalised its industry. 1
(Fill up the blank with correct alternative.)
(A) Medical infrastructure (B) Consumer goods
(C) Capital goods (D) Foreign trade

)
®

(a) “Farm subsidies put a huge burden on the government finances, but
are necessary for the poor and marginal farmers.” 3

Justify the given statement.
OR

(b) Discuss briefly the role of small-scale industries in the growth
Journey of India. 3

Do
®

Goals of Equity was fully served by ‘abolition of the intermediaries’ in
agriculture in the post-independence period of India. 3

Do you agree with given statement ? Support your answer with valid
arguments.

w
e

(a) (@) “National Education Policy 2020 of India stresses a lot on
in-service teachers’ training.” 3

In the light of the given statement, state and explain any two
advantages of such on-the-job trainings in upliftment of
education sector of any nation.

(i1) Define Casual Wage Labourer. 1
OR
(b) (@) Elaborate any two reasons owing to which lesser number of
women are found in regular salaried employment. 3

(i1) Define worker — population ratio.

w
=

(a) “Scholars find son preference as a common phenomenon in India,
Pakistan and China.” 2

Justify the given statement in the light of skewed sex-ratio.

(b) State any two liberty indicators. 2

© 58/4/1/R4PSQ/21 Page 19 P.T.O.
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foreqa &9 & wwend fop wRa i amifefe gur wheen 3 frafaRaa @1 e yer wenfea
fepam 4
(a) PN &P

(b) 3Pl &

. 8 feoeft § G-20 Farsti 1 9o 1 TR 9 R “&H T gt 9 Uk UGN @

qUT EH Teh Wi AT hid & |

39 YO | Faq137 4, 2030 TST AT Had s e (SDG's) i qura: 9 ST &9 H
Tsranfeera vt <1 Hehed foran 3 | Tiwores 1 fafgd Jarsn 1 ufqegand “gar sma-9m@
R 5o e

YU 98 I et ® 56, “SDG &% 2030 & T8l W T I Ua Tehei o
AT I IeTE R TG fean R

et = 7 gifead fean fop, “fpeht oft g =61 fefaar 6t orers o gesht i oierE @ freht
Teh 1 =9 9 AT 0 |

|t AT A FATARTT % 17T T 3 o1 Hehed for 2

e TSEd, Had, HfeTd 9 quTareh faeht # e

e 2030 TSIET o Ui & YT BRI H dsfl;

o T HIEH F THEW €Y | FAq fohE 99 ST,

o SEM, STIH qUT fYh wuTell for ATt <6 forw gami =6t 3TF g |

avft 941, “SDG T et | dftsrl o o feTw G-20 2023 T FISH1 & JuTel 9 gHIeg
HriE % fore agfech wElaTd S % fore afaerg €; 398 1@ o FuIw 1 Ted i,
Ifvaeh TTERT I 5@ HT TUT TR GIEHIUT Tl TN HEAT AT U0l F¥1eqm se
T FfeAfera g |7

(a) SDG I IuAfeY H AYfesh I§ o He™ h Ieoi@ o ST, | 3
(b) ‘SH-Te TS i TIcETE TeH hid ¥ S-20 1371 1 1 ArSHT 1 g §
== e | 3
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32. Elaborate how the economic reforms process of India impacted the
following : 4

(a) Agriculture sector

(b) Industrial sector

w
w

“We are One-Earth, One Family and we share One Future.” is the opening
sentence of the G-20 New Delhi Leader’s Declaration Statement.

In this statement the leaders pledged to “resolve to fully and effectively
implement the 2030 Agenda and the Sustainable Developmental Goals
(SDG’s)”. The leader’s commitments contained in the Declaration
statement reflect, “the philosophy of living in harmony with our
surrounding ecosystem”.

The Declaration recognises the “Cascading challenges and crisis that have
reversed gains” on the 2030 Agenda of SDG’s.

The leaders “affirm that no country should have to choose between
fighting poverty and fighting for our planet”.

The leaders resolved to act
. accelerate strong, sustainable, balanced and inclusive growth;
®  accelerate the full & effective implementation of 2030 Agenda

® pursue low-carbon and environmentally sustainable development

pathways;

®  Pursue reforms for better, comprehensive and more effective finance
avenues.

The leaders commit to “taking collective actions for effective and timely

implementation of the G-20 2023 Action Plan to accelerate progress on the

SDG’s; including through actions on eliminating hunger and malnutrition,

strengthening global health and implementation of One Health approach,

and delivering quality education.”

(a) State and discuss the importance of collective fight in achieving

SDG’s. 3
(b) Discuss briefly the action plan of G-20 leaders in promoting ‘One
Health’ approach. 3

QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO
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TR G 1Y Ferour gerr < forw 3romme e fopegi <1 St shi samea wht | 3

Trior ferepTa © HTE % HEw 1 ST Y | 3
Frerat

‘YR FEAT FTITeh! T TN sk T3 1 [ 3MUTHG Afeewen §

gfafid s Hshar 2 I° 3

few T w1 3iifae fag =t |

“IFITRE &5 % SO ST & T USHIR Scd— AT ATETS 2 |7 3

1= bt gRT fe 7T e o1 3fifaer fag =i |
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(1) Discuss any two measures initiated by the government to
improve Agricultural marketing in India. 3

w

[N
~~

Y]
N

@11) Elaborate the importance of credit in rural development. 3
OR

(b) (1) ‘India can transform itself knowledge-based economy by using

information technology.’ 3

Justify the given statement.

(1) “It is necessary to generate employment in the formal sector
rather than the informal sector.” 3

Justify the given statement with valid arguments.

QOCLCLEEICEELOEEEICEEUECEEICEEOEEEIEEEOOEEEIEEEOOCEEICCEO
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